Приложение 3

Тест
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2. При  каком значении      х   верно  равенство    [image: image12.png]
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А)  х=4     Б)  х=8       В)х=3      Г)   х=2.
3. Найдите значение выражения            [image: image16.png]8Xx7+8%3
5%




 А)  8    Б)  16     В)1,6        Г)   4

4. Приведите дробь   [image: image18.png]9
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А)  [image: image20.png]


  Б)  [image: image22.png]


   В ) [image: image24.png]


    Г)    [image: image26.png]



5. Наименьший  общий знаменатель дробей    [image: image28.png]


 и  [image: image30.png]


    равен:
А)   120   Б) 60   В)   30      Г)   40

6. Сравните   дроби    [image: image32.png]


    и    [image: image34.png]
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